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QUESTION 1

The team is assessing feedback from the work that\\'s been completed. After some discussion they realize this feedback
can be used to assess the remaining components that are yet to be built. Specifically, this feedback can be used to help
them determine if the initiative\\'s remaining solution components are: 

A. Impacting other initiatives 

B. Supported by management 

C. Likely to be completed 

D. Still appropriate 

Correct Answer: D 

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (47) 

 

QUESTION 2

Two key components of assessing solution options at the Initiative Horizon include: 

A. Shared understanding of the need and a very broad description of solution options 

B. Shared understanding of the need and a description of the selected solution 

C. Shared understanding of the need and a detailed description of all potential solutions 

D. Shared understanding of the need and top three solution options 

Correct Answer: B 

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf 

 

QUESTION 3

At the strategy level, a major component of waste can be avoided by ensuring the enterprise: 

A. Only begins an initiative when a budget is approved for all work 

B. Has a shared understanding of organizational goals and priorities 

C. Has changes to existing work approved by senior management 

D. Has comprehensive business cases approved by senior management 

Correct Answer: C 

 

QUESTION 4
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Making decisions based on a realistic understanding of current organizational strengths, capabilities, and challenges, is
represented in the agile analysis principle of: 

A. See the whole 

B. Individuals and interactions over process and tools 

C. Think as a customer 

D. Understand what is doable 

Correct Answer: A 

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (36) 

 

QUESTION 5

The delivery team discusses how to maintain the integrity of their backlog items. They decide to? 

A. Delay changes until they are caught up 

B. Develop a business case for all changes 

C. Monitor stories and features for staleness 

D. Ensure all changes are approved 

Correct Answer: C 

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (138) 
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